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Exam Instructions

1. This mock test is based on the latest AISSEE Class 6 exam pattern.
2. The paper consists of 125 questions for a total of 300 marks.
    - Mathematics: 50 Questions – 150 Marks
    - Intelligence: 25 Questions – 50 Marks
    - Language: 25 Questions – 50 Marks
    - General Knowledge: 25 Questions – 50 Marks
3. Time Duration: 2 Hours 30 Minutes (150 minutes)
4. Negative marking: There is no negative marking.

 

Note: This test is brought to you by Studybox Doon – India’s Trusted Online Institute for Sainik School, RMS & RIMC Preparation.

To join our full course with live classes, weekly tests, and expert mentorship – contact us at:
� +91-91511 70611 | � www.studyboxdoon.com

The corresponding numeral for
5x 100000 + 8x10000 + 1x1000 + 6x100 + 2x10 + 3x1 is

A. 581623 B. 5081623

C. 5810623 D. 5816023

Please mark (✓) for the correct answer.

The expanded form for 308927 is

A. 3000000 + 8000 + 900 + 20 + 7 B. 300000 + 800 + 90 + 2 + 7

C. 30000 + 80000 + 9000 + 20 + 7 D. 300000 + 8000 + 900 + 20 + 7

Please mark (✓) for the correct answer.

Question: 1 of 125 Marks: 4QID: 781

Question: 2 of 125 Marks: 4QID: 782
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Estimate 734+998by rounding off the nearest tens

A. 1730 B. 1740

C. 1750 D. 1760

Please mark (✓) for the correct answer.

What is the predecessor of 17

A. 16 B. 18

C. 0 D. 17

Please mark (✓) for the correct answer.

Write the successor of 1997

A. 1996 B. 1997

C. 1998 D. None

Please mark (✓) for the correct answer.

Which is the smallest whole number

A. 1 B. 0

C. 2 D. -1

Please mark (✓) for the correct answer.

Divide 7÷0

A. 7 B. 0

C. Not defined D. 1

Please mark (✓) for the correct answer.

Question: 3 of 125 Marks: 4QID: 783

Question: 4 of 125 Marks: 4QID: 784

Question: 5 of 125 Marks: 4QID: 785

Question: 6 of 125 Marks: 4QID: 786

Question: 7 of 125 Marks: 4QID: 787
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Find value of 297x17 + 297x3

A. 5940 B. 5980

C. 5942 D. 5970

Please mark (✓) for the correct answer.

The exact divisor of number 9 is

A. 2 B. 3

C. 4 D. 5

Please mark (✓) for the correct answer.

Which number is factor of every number

A. 1 B. 2

C. 10 D. 100

Please mark (✓) for the correct answer.

Numbers of factors of given number are:

A. 1 B. 2

C. finite D. infinite

Please mark (✓) for the correct answer.

The numbers of multiples of given number are

A. 1 B. 2

C. finite D. infinite

Please mark (✓) for the correct answer.

Question: 8 of 125 Marks: 4QID: 788

Question: 9 of 125 Marks: 4QID: 789

Question: 10 of 125 Marks: 4QID: 790

Question: 11 of 125 Marks: 4QID: 791

Question: 12 of 125 Marks: 4QID: 792
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Every number is multiple of

A. 1 B. 2

C. 10 D. itself

Please mark (✓) for the correct answer.

How many points does the given figure has? A

         

A. 5 B. 4

C. 3 D. 6

Please mark (✓) for the correct answer.

How many lines pass through one given point?

A. one B. two

C. Countless D. none

Please mark (✓) for the correct answer.

How many lines pass through two given points?

A. one B. two

C. many D. more

Please mark (✓) for the correct answer.

The line segment forming a polygon are called _________________.

A. Vertex B. sides

C. angle D. curve

Please mark (✓) for the correct answer.

Question: 13 of 125 Marks: 4QID: 793

Question: 14 of 125 Marks: 4QID: 794

Question: 15 of 125 Marks: 4QID: 795

Question: 16 of 125 Marks: 4QID: 796

Question: 17 of 125 Marks: 4QID: 797
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Two distinct lines meeting at a points are called _____________.

A. Collinear lines B. intersecting lines

C. parallel lines D. None of these

Please mark (✓) for the correct answer.

Two lines in a plane either intersect exactly at one point or are

A. perpendicular B. parallel

C. equal D. equidistant

Please mark (✓) for the correct answer.

Three or more points lying on the same line are known as ___________ points.

A. non – collinear B. collinear

C. ntersecting D. none of these.

Please mark (✓) for the correct answer.

A flat surface which extends indefinitely in all directions is called ___________ .

A. line B. line segment

C. plane D. point

Please mark (✓) for the correct answer.

Number of lines which can be drawn from one point:

A. one B. infinite

C. two D. zero

Please mark (✓) for the correct answer.

Question: 18 of 125 Marks: 4QID: 798

Question: 19 of 125 Marks: 4QID: 799

Question: 20 of 125 Marks: 4QID: 800

Question: 21 of 125 Marks: 4QID: 801

Question: 22 of 125 Marks: 4QID: 802
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Three or more points which lie on a same line are called:

A. non – collinear points B. straight lines

C. collinear points D. point of concurrence

Please mark (✓) for the correct answer.

Which of the following number is greater than – 1 ?

A. -2 B. -10

C. 0 D. -3

Please mark (✓) for the correct answer.

The preceding number of - 1 on number line is:

A. 0 B. 1

C. 2 D. -2

Please mark (✓) for the correct answer.

Which number is 5 more than – 3?

A. -2 B. 2

C. 8 D. -8

Please mark (✓) for the correct answer.

7 steps to the left of 4 on number line gives:

A. 3 B. 11

C. -11 D. -3

Please mark (✓) for the correct answer.

Question: 23 of 125 Marks: 4QID: 803

Question: 24 of 125 Marks: 4QID: 804

Question: 25 of 125 Marks: 4QID: 805

Question: 26 of 125 Marks: 4QID: 806

Question: 27 of 125 Marks: 4QID: 807
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2 steps to the right of – 1 on number line gives:

A. 0 B. 1

C. -3 D. 3

Please mark (✓) for the correct answer.

The integer succeeding - 9 is:

A. -10 B. 10

C. -8 D. 8

Please mark (✓) for the correct answer.

What will be the opposite of 3 Km south?

A. 3 km east B. 3 km north

C. 3 km north east D. 3 km west

Please mark (✓) for the correct answer.

Which of the following set of numbers is in descending orders?

A. 2, - 2 , 1 , - 1 B. 0, 1, 2, 3

C. 1, 0 , - 1 , -2 D. – 3 ,- 2 , -1 , 0

Please mark (✓) for the correct answer.

Which of the following statements is false:

A. 0 lies to the left of – 1 B. 2 lies to the right of 1

C. 1 lies to the right of 0 D. – 2 lies to the left of – 1

Please mark (✓) for the correct answer.

Question: 28 of 125 Marks: 4QID: 808

Question: 29 of 125 Marks: 4QID: 809

Question: 30 of 125 Marks: 4QID: 810

Question: 31 of 125 Marks: 4QID: 811

Question: 32 of 125 Marks: 4QID: 812
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– 5 added to the – 1 gives

A. 4 B. -4

C. 6 D. -6

Please mark (✓) for the correct answer.

Write the fraction representing the shaded region

A. B. 

C. D. 

Please mark (✓) for the correct answer.

What fraction of an hour is 45 minutes

A. B. 

C. D. 

Please mark (✓) for the correct answer.

What fraction of a day is 8 hours

A. B. 

C. D. 

Please mark (✓) for the correct answer.

Question: 33 of 125 Marks: 4QID: 813

Question: 34 of 125 Marks: 4QID: 814

Question: 35 of 125 Marks: 4QID: 815

Question: 36 of 125 Marks: 4QID: 816
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1.What is the decimal expansion of 

A. 0.5 B. 5.0

C. 0.05 D. 0.005

Please mark (✓) for the correct answer.

What is the place value of 9 in the given decimal 19.4

A. Ones B. Tens

C. Tenth D. Hundredth

Please mark (✓) for the correct answer.

20+9+  +  can be written in decimal as

A. 29.04 B. 29.41

C. 2940 D. 0.2940

Please mark (✓) for the correct answer.

108.56 can be written in words as

A. One hundred eight point fifty six B. One hundred eight point five six

C. Ten thousand eight hundred fifty six D. none of these

Please mark (✓) for the correct answer.

5.008 can be written in words as

A. Five thousand eight B. Five point eight

C. Fifty point eight D. five point zero zero eight

Please mark (✓) for the correct answer.

Question: 37 of 125 Marks: 4QID: 817

Question: 38 of 125 Marks: 4QID: 818

Question: 39 of 125 Marks: 4QID: 819

Question: 40 of 125 Marks: 4QID: 820

Question: 41 of 125 Marks: 4QID: 821
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13.Which of the following point lies between 0.1 and 0.2

A. 0.19 B. 1.9

C. 10.9 D. 1.09

Please mark (✓) for the correct answer.

Which of the following is greater?

A. 1.09 B. 0.19

C. 1.90 D. 1.009

Please mark (✓) for the correct answer.

Which of the following is true

A. 0.3 > 0.4 B. 0.07<0.02

C. 3>0.8 D. 0.5 =0.05

Please mark (✓) for the correct answer.

Three hundred six and seven hundredth in decimal form can be written as

A. 306700 B. 306.7

C. 306.07 D. 30670

Please mark (✓) for the correct answer.

Two tens and nine tenths in decimal form is given by

A. 2.9 B. 20.09

C. 2.09 D. 20.9

Please mark (✓) for the correct answer.

Question: 42 of 125 Marks: 4QID: 822

Question: 43 of 125 Marks: 4QID: 823

Question: 44 of 125 Marks: 4QID: 824

Question: 45 of 125 Marks: 4QID: 825

Question: 46 of 125 Marks: 4QID: 826
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32.549 > 32.458 because

A. Tenth part is more B. Hundredth is more

C. Thousandth is more D. Whole part of both number are equal

Please mark (✓) for the correct answer.

Representation of data in the form of picture ism called ______________

A. bar graph B. pictograph

C. histogram D. none of these

Please mark (✓) for the correct answer.

In a bar graph space between rectangles is always __________________

A. Unequal B. increasing

C. decreasing D. equal

Please mark (✓) for the correct answer.

In a bar graph the width of the rectangle is

A. Unequal B. increasing

C. decreasing D. equal

Please mark (✓) for the correct answer.

Determine the term that would replace the question mark.
 

A. 36 B. 41

C. 35 D. 45

Please mark (✓) for the correct answer.

Question: 47 of 125 Marks: 4QID: 827

Question: 48 of 125 Marks: 4QID: 828

Question: 49 of 125 Marks: 4QID: 829

Question: 50 of 125 Marks: 4QID: 830

Question: 51 of 125 Marks: 2QID: 831
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If ‘÷’ stands for ‘X’ ‘X’ stands for ‘+’. ‘+’ stands for ‘-‘ , then what is the value of 7÷ 21 x 81 + 9 – 3 x 14 ?

A. 21 B. 24

C. 27 D. 28

Please mark (✓) for the correct answer.

Choose the numeral pair/group which is different from others.

A. 83–73 B. 64–54

C. 36–29 D. 75–65

Please mark (✓) for the correct answer.

Choose the numeral pair/group which is different from others.

A. 13–18 B. 14–17

C. 19–12 D. 15–14

Please mark (✓) for the correct answer.

Choose the numeral pair/group which is different from others.

A. 1–0 B. 3–8

C. 6–35 D. 7–50

Please mark (✓) for the correct answer.

Choose the numeral pair/group which is different from others.

A. 55–42 B. 48–34

C. 95–82 D. 69–56

Please mark (✓) for the correct answer.

Question: 52 of 125 Marks: 2QID: 832

Question: 53 of 125 Marks: 2QID: 833

Question: 54 of 125 Marks: 2QID: 834

Question: 55 of 125 Marks: 2QID: 835

Question: 56 of 125 Marks: 2QID: 836
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Choose the numeral pair/group which is different from others.

A. 1–1 B. 4–16

C. 9–81 D. 7–42

Please mark (✓) for the correct answer.

Choose the numeral pair/group which is different from others.

A. 7–9 B. 8–8

C. 11–5 D. 6–7

Please mark (✓) for the correct answer.

Choose the numeral pair/group which is different from others.

A. 57–69 B. 42–29

C. 47–59 D. 73–61

Please mark (✓) for the correct answer.

Choose the numeral pair/group which is different from others.

A. 2–7 B. 3–11

C. 13–19 D. 12–15

Please mark (✓) for the correct answer.

Choose the numeral pair/group which is different from

A. 16–13 B. 15–14

C. 18–10 D. 17–12

Please mark (✓) for the correct answer.

Question: 57 of 125 Marks: 2QID: 837

Question: 58 of 125 Marks: 2QID: 838

Question: 59 of 125 Marks: 2QID: 839

Question: 60 of 125 Marks: 2QID: 840

Question: 61 of 125 Marks: 2QID: 841
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Choose the numeral pair/group which is different from others.

A. 4–18 B. 6–38

C. 5–26 D. 9–83

Please mark (✓) for the correct answer.

Choose the numeral pair/group which is different from others.

A. 19–57 B. 13–39

C. 11–33 D. 14–40

Please mark (✓) for the correct answer.

Choose the numeral pair/group which is different from others.

A. 4–64 B. 5–125

C. 7–243 D. 6–216

Please mark (✓) for the correct answer.

Choose the numeral pair/group which is different from others.

A. 64–43 B. 34–15

C. 77–58 D. 56–37

Please mark (✓) for the correct answer.

Daughter is to Father as Niece is—

A. Nephew B. Cousin

C. Mother D. Uncle

Please mark (✓) for the correct answer.

Question: 62 of 125 Marks: 2QID: 842

Question: 63 of 125 Marks: 2QID: 843

Question: 64 of 125 Marks: 2QID: 844

Question: 65 of 125 Marks: 2QID: 845

Question: 66 of 125 Marks: 2QID: 846
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Scales are to Fish as Bark is to—

A. Elephant B. Tree

C. Dog D. Fox

Please mark (✓) for the correct answer.

ZA is to YB as XC is to—

A. YZ B. NM

C. BD D. WD

Please mark (✓) for the correct answer.

ABCD is to WXYZ as EFGH is to—

A. STUV B. STOU

C. STUE D. PQRS

Please mark (✓) for the correct answer.

 AD is to BE as CF is to—

A. BC B. DG

C. DH D. DK

Please mark (✓) for the correct answer.

Volume is to litre as time is to—

A. Seconds B. Watch

C. Walk D. Speed

Please mark (✓) for the correct answer.

Question: 67 of 125 Marks: 2QID: 847

Question: 68 of 125 Marks: 2QID: 848

Question: 69 of 125 Marks: 2QID: 849

Question: 70 of 125 Marks: 2QID: 850

Question: 71 of 125 Marks: 2QID: 851
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Bees is to Swarm as Cattle is to—

A. Flock B. Crowd

C. Herd D. Bunch

Please mark (✓) for the correct answer.

Choose the word which is different from the others.

A. Spoon B. Fork

C. Plate D. Tomato

Please mark (✓) for the correct answer.

Choose the word which is different from the others.

A. Apple B. Banana

C. Potato D. Pear

Please mark (✓) for the correct answer.

Choose the word which is different from the others.

A. Gas B. Water

C. Juice D. Oil

Please mark (✓) for the correct answer.

Identify the type of tense.
I met him after Ihad finished my work. 

A. Present perfect tense B. Past perfect tense

C. Future perfect tense D. Past Indefinite Tense

Please mark (✓) for the correct answer.

Question: 72 of 125 Marks: 2QID: 852

Question: 73 of 125 Marks: 2QID: 853

Question: 74 of 125 Marks: 2QID: 854

Question: 75 of 125 Marks: 2QID: 855

Question: 76 of 125 Marks: 2QID: 856
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"Sita sings a song' choose the negative of the sentence.

A. Sita do not sing a song B. Sita does not sing a song

C. Sita did not sing a song D. Sita is not singing a song

Please mark (✓) for the correct answer.

Choose the correct spelling:

A. Argument B. Argumant

C. Argumeant D. Arguement

Please mark (✓) for the correct answer.

Choose the incorrect spelling: 

A. Irreversible B. Independence

C. Hypocrisy D. Loanly

Please mark (✓) for the correct answer.

could (A) /his  (B) not (C) /he (D) /friend (E) /tolerate (F)

A. BEACFD B. DACEBE

C. ACEBFD D. DBCEFA

Please mark (✓) for the correct answer.

this (A) /do (B )/ at (C) / you (D) / once (E) / should (F) 

A. DFBACE B. DABFCE

C. BACEDF D. AFDBCE

Please mark (✓) for the correct answer.

Question: 77 of 125 Marks: 2QID: 857

Question: 78 of 125 Marks: 2QID: 858

Question: 79 of 125 Marks: 2QID: 859

Question: 80 of 125 Marks: 2QID: 860

Question: 81 of 125 Marks: 2QID: 861
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Choose the word that is opposite of 'Reveal'.

A. Disclosure B. show

C. Hidden D. Lethal

Please mark (✓) for the correct answer.

Choose the word that means to opposite of 'Fatigued'

A. Weakened B. Tired

C. Activated D. Energised

Please mark (✓) for the correct answer.

Choose the word that means is similar to 'Crude'

A. Unrefined B. Cruel

C. Rude D. Saves

Please mark (✓) for the correct answer.

Choose the word that means is similar to 'Eminent'

A. Authentic B. Confident

C. Famous D. Ingenious

Please mark (✓) for the correct answer.

'Burning Question' means.

A. To end a hostility B. Hot issue

C. Irregularly D. Entirely

Please mark (✓) for the correct answer.

Question: 82 of 125 Marks: 2QID: 862

Question: 83 of 125 Marks: 2QID: 863

Question: 84 of 125 Marks: 2QID: 864

Question: 85 of 125 Marks: 2QID: 865

Question: 86 of 125 Marks: 2QID: 866

Page 18 of 30 Print ID: 20257812822240



Select the correct one word substitution for the given words.
Words of similar meaning. 

A. Homonyms B. Pseudonyms

C. Antonyms D. Synonyms

Please mark (✓) for the correct answer.

A place where gambling is practice:

A. hotel B. Casino

C. restaurant D. theatre

Please mark (✓) for the correct answer.

Choose the correct sentence.

A. She has a black blonde long beautiful hair B. She has a beautiful long blonde hair

C. She has a long beautiful blonde hair D. She has a blonde beautiful long hair

Please mark (✓) for the correct answer.

We hadn't got any remuneration.....?

A. has we B. hadn't we

C. hasn't we D. had we

Please mark (✓) for the correct answer.

He is......inteligent......industrious.

A. Both, as well as B. both or

C. both, and D. neither, or

Please mark (✓) for the correct answer.

Question: 87 of 125 Marks: 2QID: 867

Question: 88 of 125 Marks: 2QID: 868

Question: 89 of 125 Marks: 2QID: 869

Question: 90 of 125 Marks: 2QID: 870

Question: 91 of 125 Marks: 2QID: 871
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A cat is sitting.......the table.

A. under B. into

C. over D. in

Please mark (✓) for the correct answer.

He is......than wise. 

A. more braver B. braver

C. more brave D. bravier

Please mark (✓) for the correct answer.

One should keep........promise.

A. Ones B. his

C. our D. One's

Please mark (✓) for the correct answer.

Two and two........four.

A. makes B. make

C. give D. none of these

Please mark (✓) for the correct answer.

Question: 92 of 125 Marks: 2QID: 872

Question: 93 of 125 Marks: 2QID: 873

Question: 94 of 125 Marks: 2QID: 874

Question: 95 of 125 Marks: 2QID: 875
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Read the following passage and answer the following questions(Q 21-25) by choosing the most appropriate option.
Once upon a time I went for a week's holiday in the Continent with an Indian friend. We both enjoyed ourselves and were sorry when the
week was over, but on parting our behaviour was absolutely different. He was plunged in despair. He felt that because the holiday was
over all happiness wa over untill the world ended. He could not express his sorrow too much, but in me the Englishman came our strong.
I could not see what there was to make a fuss about. It was not as if we were parting forever or dying. 'Buck up' I said, 'do buck up'. He
refused to buck up, and I left him plunged in gloom. 

What is the continent in the context of the passage?

A. An island B. The countryside

C. African safari D. Europe

Please mark (✓) for the correct answer.

What does the author mean by 'buck up'?

A. Buckle yourself up B. Stand up

C. Cheer up D. Shut up

Please mark (✓) for the correct answer.

Why was the Indian friend plunged in despair?

A. He was hopeless B. He experienced racial discrimination

C. He would never be so happy again D. He had spend lot of money

Please mark (✓) for the correct answer.

What does 'but in me the Englishman came out strong' imply?

A. He was strong Englishman B. He had the typical English character

C. The Englishman went out of him D. He started following Indian traditions

Please mark (✓) for the correct answer.

Question: 96 of 125 Marks: 2QID: 876

Question: 97 of 125 Marks: 2QID: 877

Question: 98 of 125 Marks: 2QID: 878

Question: 99 of 125 Marks: 2QID: 879
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What is the author's intension in the passage?

A. To contrast the indian character with the English
character

B. To show that an Indian is sorrowful

C. To ridicule the Indian traditions D. To praise the Englishman

Please mark (✓) for the correct answer.

Which of the following is an amphibian?

A. Frog B. Lizard

C. Snake D. None of these

Please mark (✓) for the correct answer.

The enzyme found in saliva is:

A. Pepsin B. rennin

C. Ptyalin D. Lipase

Please mark (✓) for the correct answer.

The gas which helps in lighting fire is:

A. Carbon dioxide B. Oxygen

C. Methane D. Ethane

Please mark (✓) for the correct answer.

Which gas is not a green effect gas?

A. CO​2 B. H​2

C. CFC D. Methane

Please mark (✓) for the correct answer.

Question: 100 of 125 Marks: 2QID: 880

Question: 101 of 125 Marks: 2QID: 881

Question: 102 of 125 Marks: 2QID: 882

Question: 103 of 125 Marks: 2QID: 883

Question: 104 of 125 Marks: 2QID: 884
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This disease caused by deficiency of Vitamin A is: 

A. Night blindness B. Beri Beri

C. Scurvy D. Diabetes

Please mark (✓) for the correct answer.

The world's first artifical satellite was:

A. Arya Bhatt I B. Sputanic I

C. Sputanic II D. Inset

Please mark (✓) for the correct answer.

What type of fields are found on the mountains

A. Plain Fields B. Terranced Field

C. Flat Field D. None of these

Please mark (✓) for the correct answer.

Tsunami is the word of which language:

A. Germany B. America

C. Japanese D. Indian

Please mark (✓) for the correct answer.

Who started the Aligarh movement?

A. Swami Dayanand B. Sir Syed Ahmed khan

C. Khan Abdul Gaffar khan D. Rammohan Rai

Please mark (✓) for the correct answer.

Question: 105 of 125 Marks: 2QID: 885

Question: 106 of 125 Marks: 2QID: 886

Question: 107 of 125 Marks: 2QID: 887

Question: 108 of 125 Marks: 2QID: 888

Question: 109 of 125 Marks: 2QID: 889
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Where does respiration occurs in plants?

A. From the stems B. From leaves

C. From roots D. Flower

Please mark (✓) for the correct answer.

What is sericulture?

A. Beekeeping B. Sheep farming

C. Silkworm rearing D. None of these

Please mark (✓) for the correct answer.

Iran Trophy is related to which sport?

A. Hockey B. Cricket

C. Football D. Tennis

Please mark (✓) for the correct answer.

Who is the supreme commander of the three Indian forces?

A. Prime minister B. Home minister

C. President D. Minister of demo 

Please mark (✓) for the correct answer.

The number of players in volleyball?

A. 7 B. 6

C. 11 D. 5

Please mark (✓) for the correct answer.

Question: 110 of 125 Marks: 2QID: 890

Question: 111 of 125 Marks: 2QID: 891

Question: 112 of 125 Marks: 2QID: 892

Question: 113 of 125 Marks: 2QID: 893

Question: 114 of 125 Marks: 2QID: 894
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In which field is 'Gyanpeeth Award' given?

A. Film B. Literature

C. Sports D. Instructor

Please mark (✓) for the correct answer.

Which is the highest peak of world?

A. Kanchenjunga B. K​2

C. Mount Everest D. Nanda Devi

Please mark (✓) for the correct answer.

Tropic of the cancer does not pass through which of the following?

A. Tripura B. Gujarat

C. Rajasthan D. Odisha

Please mark (✓) for the correct answer.

Ranjeet Sagar Dam is on which river?

A. Vyas B. Ravi

C. Chinav D. Satluj

Please mark (✓) for the correct answer.

Where is Sariska Sanctuary located?

A. Assam B. Kerala

C. Tamilnadu D. Rajasthan

Please mark (✓) for the correct answer.

Question: 115 of 125 Marks: 2QID: 895

Question: 116 of 125 Marks: 2QID: 896

Question: 117 of 125 Marks: 2QID: 897

Question: 118 of 125 Marks: 2QID: 898

Question: 119 of 125 Marks: 2QID: 899
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Who is the author of Economics?

A. Kautilya B. Farahan

C. Arstu D. Pluto

Please mark (✓) for the correct answer.

Where is headquater og Interpool?

A. Paris B. California

C. Geneva D. London

Please mark (✓) for the correct answer.

Which of the following states does not have a sea cost?

A. Odisha B. Tamilnadu

C. Maharashtra D. Madhya Pradesh

Please mark (✓) for the correct answer.

Which is the hardest substance?

A. Graphite B. Iron

C. Gold D. Diamond

Please mark (✓) for the correct answer.

Which is called Blue Planet?

A. Earth B. Venus

C. Mercury D. Mars

Please mark (✓) for the correct answer.

Question: 120 of 125 Marks: 2QID: 900

Question: 121 of 125 Marks: 2QID: 901

Question: 122 of 125 Marks: 2QID: 902

Question: 123 of 125 Marks: 2QID: 903

Question: 124 of 125 Marks: 2QID: 904
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Where is 'Dilwada Temple' located?

A. Mysore B. Agra

C. Indore D. Mount Abu

Please mark (✓) for the correct answer.

 

Question: 125 of 125 Marks: 2QID: 905

--- END OF QUESTION PAPER ---
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No Question Type QID Correct Answer
Question - 1 Multiple Choice (Radiobutton) 781 A

Question - 2 Multiple Choice (Radiobutton) 782 D

Question - 3 Multiple Choice (Radiobutton) 783 A

Question - 4 Multiple Choice (Radiobutton) 784 A

Question - 5 Multiple Choice (Radiobutton) 785 C

Question - 6 Multiple Choice (Radiobutton) 786 B

Question - 7 Multiple Choice (Radiobutton) 787 C

Question - 8 Multiple Choice (Radiobutton) 788 A

Question - 9 Multiple Choice (Radiobutton) 789 B

Question - 10 Multiple Choice (Radiobutton) 790 A

Question - 11 Multiple Choice (Radiobutton) 791 C

Question - 12 Multiple Choice (Radiobutton) 792 D

Question - 13 Multiple Choice (Radiobutton) 793 A

Question - 14 Multiple Choice (Radiobutton) 794 B

Question - 15 Multiple Choice (Radiobutton) 795 C

Question - 16 Multiple Choice (Radiobutton) 796 A

Question - 17 Multiple Choice (Radiobutton) 797 B

Question - 18 Multiple Choice (Radiobutton) 798 B

Question - 19 Multiple Choice (Radiobutton) 799 A

Question - 20 Multiple Choice (Radiobutton) 800 B

Question - 21 Multiple Choice (Radiobutton) 801 C

Question - 22 Multiple Choice (Radiobutton) 802 B

Question - 23 Multiple Choice (Radiobutton) 803 C

Question - 24 Multiple Choice (Radiobutton) 804 C

Question - 25 Multiple Choice (Radiobutton) 805 D

Question - 26 Multiple Choice (Radiobutton) 806 B

Question - 27 Multiple Choice (Radiobutton) 807 D

Question - 28 Multiple Choice (Radiobutton) 808 B

Question - 29 Multiple Choice (Radiobutton) 809 C

Question - 30 Multiple Choice (Radiobutton) 810 B

Question - 31 Multiple Choice (Radiobutton) 811 C

Question - 32 Multiple Choice (Radiobutton) 812 A

Question - 33 Multiple Choice (Radiobutton) 813 D

Question - 34 Multiple Choice (Radiobutton) 814 D

Question - 35 Multiple Choice (Radiobutton) 815 B

Question - 36 Multiple Choice (Radiobutton) 816 A

Question - 37 Multiple Choice (Radiobutton) 817 A

Question - 38 Multiple Choice (Radiobutton) 818 A

Question - 39 Multiple Choice (Radiobutton) 819 B

Question - 40 Multiple Choice (Radiobutton) 820 B

Question - 41 Multiple Choice (Radiobutton) 821 B

Question - 42 Multiple Choice (Radiobutton) 822 A
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Question - 43 Multiple Choice (Radiobutton) 823 C

Question - 44 Multiple Choice (Radiobutton) 824 C

Question - 45 Multiple Choice (Radiobutton) 825 C

Question - 46 Multiple Choice (Radiobutton) 826 D

Question - 47 Multiple Choice (Radiobutton) 827 A

Question - 48 Multiple Choice (Radiobutton) 828 B

Question - 49 Multiple Choice (Radiobutton) 829 D

Question - 50 Multiple Choice (Radiobutton) 830 D

Question - 51 Multiple Choice (Radiobutton) 831 B

Question - 52 Multiple Choice (Radiobutton) 832 A

Question - 53 Multiple Choice (Radiobutton) 833 C

Question - 54 Multiple Choice (Radiobutton) 834 D

Question - 55 Multiple Choice (Radiobutton) 835 D

Question - 56 Multiple Choice (Radiobutton) 836 B

Question - 57 Multiple Choice (Radiobutton) 837 D

Question - 58 Multiple Choice (Radiobutton) 838 D

Question - 59 Multiple Choice (Radiobutton) 839 B

Question - 60 Multiple Choice (Radiobutton) 840 D

Question - 61 Multiple Choice (Radiobutton) 841 C

Question - 62 Multiple Choice (Radiobutton) 842 C

Question - 63 Multiple Choice (Radiobutton) 843 D

Question - 64 Multiple Choice (Radiobutton) 844 C

Question - 65 Multiple Choice (Radiobutton) 845 A

Question - 66 Multiple Choice (Radiobutton) 846 D

Question - 67 Multiple Choice (Radiobutton) 847 C

Question - 68 Multiple Choice (Radiobutton) 848 D

Question - 69 Multiple Choice (Radiobutton) 849 A

Question - 70 Multiple Choice (Radiobutton) 850 B

Question - 71 Multiple Choice (Radiobutton) 851 A

Question - 72 Multiple Choice (Radiobutton) 852 C

Question - 73 Multiple Choice (Radiobutton) 853 D

Question - 74 Multiple Choice (Radiobutton) 854 C

Question - 75 Multiple Choice (Radiobutton) 855 A

Question - 76 Multiple Choice (Radiobutton) 856 B

Question - 77 Multiple Choice (Radiobutton) 857 C

Question - 78 Multiple Choice (Radiobutton) 858 D

Question - 79 Multiple Choice (Radiobutton) 859 A

Question - 80 Multiple Choice (Radiobutton) 860 B

Question - 81 Multiple Choice (Radiobutton) 861 B

Question - 82 Multiple Choice (Radiobutton) 862 A

Question - 83 Multiple Choice (Radiobutton) 863 B

Question - 84 Multiple Choice (Radiobutton) 864 B

Question - 85 Multiple Choice (Radiobutton) 865 D

Question - 86 Multiple Choice (Radiobutton) 866 C

Question - 87 Multiple Choice (Radiobutton) 867 A

Question - 88 Multiple Choice (Radiobutton) 868 D

No Question Type QID Correct Answer
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Question - 89 Multiple Choice (Radiobutton) 869 D

Question - 90 Multiple Choice (Radiobutton) 870 B

Question - 91 Multiple Choice (Radiobutton) 871 B

Question - 92 Multiple Choice (Radiobutton) 872 A

Question - 93 Multiple Choice (Radiobutton) 873 B

Question - 94 Multiple Choice (Radiobutton) 874 B

Question - 95 Multiple Choice (Radiobutton) 875 A

Question - 96 Multiple Choice (Radiobutton) 876 C

Question - 97 Multiple Choice (Radiobutton) 877 C

Question - 98 Multiple Choice (Radiobutton) 878 C

Question - 99 Multiple Choice (Radiobutton) 879 C

Question - 100 Multiple Choice (Radiobutton) 880 D

Question - 101 Multiple Choice (Radiobutton) 881 B

Question - 102 Multiple Choice (Radiobutton) 882 B

Question - 103 Multiple Choice (Radiobutton) 883 B

Question - 104 Multiple Choice (Radiobutton) 884 C

Question - 105 Multiple Choice (Radiobutton) 885 A

Question - 106 Multiple Choice (Radiobutton) 886 D

Question - 107 Multiple Choice (Radiobutton) 887 B

Question - 108 Multiple Choice (Radiobutton) 888 C

Question - 109 Multiple Choice (Radiobutton) 889 B

Question - 110 Multiple Choice (Radiobutton) 890 B

Question - 111 Multiple Choice (Radiobutton) 891 A

Question - 112 Multiple Choice (Radiobutton) 892 B

Question - 113 Multiple Choice (Radiobutton) 893 C

Question - 114 Multiple Choice (Radiobutton) 894 C

Question - 115 Multiple Choice (Radiobutton) 895 D

Question - 116 Multiple Choice (Radiobutton) 896 C

Question - 117 Multiple Choice (Radiobutton) 897 B

Question - 118 Multiple Choice (Radiobutton) 898 B

Question - 119 Multiple Choice (Radiobutton) 899 C

Question - 120 Multiple Choice (Radiobutton) 900 C

Question - 121 Multiple Choice (Radiobutton) 901 D

Question - 122 Multiple Choice (Radiobutton) 902 C

Question - 123 Multiple Choice (Radiobutton) 903 D

Question - 124 Multiple Choice (Radiobutton) 904 C

Question - 125 Multiple Choice (Radiobutton) 905 D

No Question Type QID Correct Answer

--- END OF ANSWER KEY ---
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